
Multiplication of Decimal Numbers 

 
1. Multiply the following:- 

A. 0.07 × 10 =  

B. 0.8 × 100 = 

C. 8.34 × 1000 = 

D. 6.001 × 1000 =  

E. 6.301 × 100 = 

F. 0.009 × 1000 =  

 
2. Find the product:- 

A. 3.81 × 5 

B. 2.4 × 0.3  

C. 0.014 × 0.046 

D. 15 × 1.5 × 0.15  

E. 0.8 × 2.6 × 0.06  

 

3. The price of a wrist watch is Rs 783.75. How much money will be needed to buy 48 
such watches? 
 

4. A two wheeler covers a distance of 68.5 km in one litre of petrol. How much distance 
will it cover in 2.5 litres of petrol? 
  




